Solubility:

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)

Electrolytes:

(NH4)zs(aq) rule #1

BaO(aq) rule #6

NaC03(aq) rule #1

ngsO4(5) rule #5

Pb(C|O4)2(aq) rule #1

SrFy rule #4

MgC,04 rule #7

LizPOy(aq) rule #1

Agl rule #3

Mn(OH)y) rule #6

(NH4)2Saq) strong electrolyte -- soluble salt
HC7HgO2(aq) weak electrolyte -- weak acid
N2Os non electrolyte -- molecular compound
Hg,SO4) weak electrolyte -- insoluble salt
HCIO4sq) strong electrolyte -- strong acid
SrFy weak electrolyte -- insoluble salt
Rb2C204(aq) strong electrolyte -- soluble salt
H3PO4aq) weak electrolyte -- weak acid
Aglg weak electrolyte -- insoluble salt
Sr(OH)zaq) strong electrolyte -- soluble salt

Net ionic equations:

potassium phosphate and mercury (I) acetate

M.E.

I.E.

N.LE.

2 K3POyaq) + 3 HO2(CoH302)23aq) = 6 KCoH30ag) + (HY2)3(PO4)2s)
6 K* g + 2 POy %aq) + 3 HYy g + 6 CoH302 (ag) > 6 K ag) + 6 CoH302 (ag) + (HY2)3(POa)ags)
6K (ag) + 2 PO, gy + 3 HY2 P ag) + 6-C2H502 (ag) > 64K (g + 6-C2H302 (ag) + (HY2)3(PO4)(s)

2 PO, ) + 3 HY: P aq) 2 (HY2)3(POu)ags)

sodium sulfide with iron (I11) nitrate

M.E.

I.E.

N.LE.

3 NaZS(aq) +2 FE(NO3)3(aq) 2>6 NaNO3(aq) + FeZS3(s)
6 Na+(aq) +3 S_z(aq) +2 Fe+3(aq) +6 NO3_(aq) 2>6 Na(aq) +6 NOg_(aq) + Fezsg(s)
6-Na’ (o) + 3 57 + 2 Fe™(ag) + 6-NOG (ag) > 6-Nagg) + 6N (o) + FesSsgg

3 S_z(aq) +2 Fe+3(aq) > FEZSg(S)

oxalic acid and cesium hydroxide

M.E.

l.E.

2 CsOH (aq) T H2C204(aq) - Cs,C,0, (aq) T 2 H20(|)

2 CS+(aq) +2 OH_(aq) + H2C_204 (aq) 2>2 CS+(aq) + C204_2(aq) +2 H20(|)
(H,C,0, is a weak electrolyte, so it does NOT break up)

2:65"(ag) + 2 OH (ag) + H2C504(aq) > 268" agy + C204ag) + 2 H20y

2 OH (aq) + H2C304 (ag) > C204%(ag) + 2 H:0y



mercury (1) perchlorate and lead (1) nitrate
M.E.  HQu(ClO4)zaq) + PB(NO3)2(ag) 2 HI2ANO3)2aq) + PB(CIO4)2(aq)

LE.  H>"(g) + 2 ClOy (ag) + Pb™(aq) + 2 NO5'(ag) > HY2ag) + 2 NO3 ey + Pb™ (e + 2 CIO4 ag

Hgo (e + 26404 ag) + PB™(ag) + 2NO5 (ag) > Hia (o) + 2NO5 ) + PB o) + 26104 (g

N.ILE. NO REACTION (when everything cancels on both sides, there is no reaction)
chromium (I1) bromide with lithium oxalate
M.E. CrBrz(aq) + Li2C204(aq) 2>2 LiBI"(aq) + CrCZO4(5)
lL.E. Cr+2(aq) +2 Br'(aq) +2 Li+(aq) + 0204-2(aq) 2>2 Li+(aq) +2 Br'(aq) + CI"CQO4(S)
GF (e + 2 B oy + 2 Li" ey + 62947 (ag) > e + 2B¥ o + CrC;045
N.LE. Cr+2(aq) + C204-2(aq) > CrCZO4(s)
sulfuric acid with rubidium hydroxide
M.E. 2 RbOH s + HySO4 aqy > Rb,SO4 (agy + 2 H20)

LE.  2RDby (E é g)ﬁ;z?zo:gza:-_g + S0, 2ag > 2 Rb* (ag) + SO4 (g + 2 H0y
29U | |

2Rb"(e) + 2 OH sy + 2 H' + 864%g) > 2RB () + 8647 ey + 2 H:0)
N.LE. OH g + H' g = H20(
calcium hydroxide with periodic acid
M.E. Ca(OH)2 @aq) T 2 H|O4(aq) > Ca(IO4)2 (aq) T 2 H20(|)

LE.  Ca"@g+2 OH g + 2 H1O4(q > Ca(ag) + 2 104 g + 2 HoOy)
(H10, is a weak electrolyte, so it does NOT break up)

Ga'%aq) + 2 OH (o) + 2 HIOuq) > 6a"%(ag) + 2 104 e + 2 Ho0py)
N.LE. OH_(aq) + H|O4(aq) > |O4_(aq) + H20(|)

(since the coefficient on each of the remaining pieces was a 2, they were all reduced to 1)

cesium chromate with rubidium oxide
M.E. CSZCrO4(aq) + szO(aq) - Cs,0 @aq) T RbZCrO4(aq)

l.E. 2 CS+(aq) + CrO4_2(aq) +2 Rb+(aq) + O_z(aq) >2 CS+(aq) + O'z(aq) +2 Rb+(aq) + CrO4_2 (aq)

265" (aq) + 6804 (o) + 2R (o) + ©7(ag) D 268 (o) + sy + 2RB ) + 68047 (ag)

N.LE. N.R.

sodium fluoride with nickel (I11) sulfate
M.E. 6 NaF(aq) + Ni2(304)3(3q) >3 Nast4(aq) + 2 NiF3(aq)

LE.  6Na'@g + 6 Fag+ 2 Ni**ag + 350,74 > 6 Na' g + 3 S04 %4 + 2 Ni® g + 6 Fag)

6N + BF () + 2N ) + 38047 o) > BMa () + 38047 o) + 2Ny + 6F ()

N.LE. N.R.



antimony (V) carbonate reacts with sulfuric acid to form carbon dioxide, water, and antimony (V) sulfate
Shy(CO3)s 5y + 5 HaSO4 ag) 2 Sb2(SO4)s55) + 5 H2CO3aq)

M.E. Sb2(003)5(5) + H,SO, (aq) > sz(SO4)5 e 7T 5 H20(|) +5 COQ(Q)
l.E. sz(C03)5(S) +2H" + SO4_Z(aq) > sz(SO4)5(S) +5 H20(|) +5 COz(g)

N.LE. sz(C03)5(S) +2H" + SO4-Z(aq) > sz(SO4)5(S) +5 H20(|) +5 COz(g)

(nothing cancels, so I.E. and N.I.E. are the same)

lithium acetate with copper (1) nitrate
M.E. 2 LiCzHgOz(aq) + CU(NO3)2(aq) 22 LiNOg(aq) + CU(CzHgoz)z(aq)

l.E. 2 Li+(aq) +2 CzHgOz_(aq) + CU+2(aq) +2 NOg_(aq) 22 Li+(aq) +2 NOg_(aq) + CU+2(aq) +2 C,H;0, (aq)
2" (4q) + 262600 (ag) + SH () + 2NO3 g > 2 (o) + 2N (o) + B (o) + 265H30; (ag)

N.LE. NO REACTION



